Ratio to ATLAS

[do/dp'Tead]Z 3 [do/dp'Tead]Z 2

=
o

=

1071

1072

0.5

pT(Ieading jet) [GeV]

7000 GeV pp Jets

I | I I I | I I I | I I I | ﬂ
. o
__ R32 vs pT (antl-kT(0.6), pT > 110) 13
— a5
— B ATLAS -9
| --0O-- Herwig++ 2.7.0 default i
L --f3-- Herwig 7.2.0 default _Si
| —&— Pythia 8.301 default ] _oj
- ¥-- Pythia 8.301 vincia-default : Q
. -4 Sherpa 1.4.0 default oo =
L AT 1z
o™
<
- — ™M
©
o
™
—
— X
_ 1.5
B =
B -1 0
5 e
(0]
- Q
)
©
o
— o
E R
o =2
1

— , 0.5

. | . . . | i . i | . . |
200 400 600 800



	Contents
	Page 1


